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3.  GRAPH A RATIONAL FUNCTION

Use Desmos.com to graph the rational function
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Identify the vertical and horizontal asymptotes of this graph. Write your results
using the notation we are developing and explain what this notation means. Then

use transformations to connect function g(x) to the function f(x) = % Also,
find the domain and range for this function.
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4. GRAPH ANOTHER RATIONAL FUNCTION

To get good grades

Use Desmos.com to graph the rational function v ol o, [l

2x + 5 He whole problem

) =

Identify the vertical and horizontal asymptotes of this graph. Write your results
using the notation we are developing and explain what this notation means. Then

usqtransformations to connect function h(x) to the function f(x) = —;— Also,
find the domain and range for this function.
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6. GRAPH ANOTHER RATIONAL FUNCTION

Use Desmos.com to graph the rational function

2x2 —4x+5 _ 2 -HX TS
Rl = x2—2x+1 {088 =~ 1™
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Identify the vertical and horizontal asymptotes of this graph. Write your results gl
using the notation we are developing and explain what this notation means. Explore
methods to find the horizontal and vertical asymptotes using algebra and make
connections between your findings and the graph you create. Then, find the domain

and range for this function.

To tind  vertwl SYym pfotes,  remembec:

D \ OLK R;‘/F alkc:) ) q d t"v\ O wmin CLMT‘

J ‘ — vac_ N UM o<

'ﬁng nv mb

= | X =| verticedl C(Symp*O‘K

To 'Rr\c\ Hor zoatzl as&j‘(\"Ph}kS/

0O ook fo- end behavior

D ‘(Y\UH’)(’)-V) b)/ "i‘?\

=) \j = Q s }\0."!“2’6\/»‘)‘&' C(Sg}vva'fC\‘K

Math 48B : Lesson 9 Handout I @



+

: I OO
o fiad  horzontu) GSY mpﬁﬂf—- X
T g
(Q xz ~ Hx + 5) [XJ multiply by 1
T o In C{\Sﬂ()is’é
5 31 ) —
( * Q’\X e— [ xz] Recall: A =
\Nm_:f__f/ e A
| it X #FO as long @S A £O
- a?‘l\"- L,Xgl +5\!
XQ ><2. xl ,
S %
2
= ‘—I— - Q X \]_ . ] “
- X2 2

= 9 = T4« 2
X e
_ o | T
| ) < 3 /X
« ‘3;;’“ ﬁtu;%
_ u J q\ oaal
= ", / / »N/:X , LX > + 00| _
/¥ i : N
) LQ/XJ \I'Zi/ = g
Huga numbz~
x = +OQ NV m e
= ]'2_‘ s :Z & o } <«— Horizontal C‘S‘J""‘Pb"‘e’ “

()



